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If the doors of a refrigerator are left open for a few hours, the room temperature

(a) decrease
(b) increase
(c) remain the same

(d) decrease only in the area in the vlclnl!y_ofh of

If a rock is brought from the surface cﬂm
(a) Its mass will change. g

(b) Its weight will change but not its

(c) Both mass and weight will

(d) Both mass and weight rems

The atmosphere exerts enormous pr
(a) Our blood exerts a pressure !

(b) We are used to it. -

(c) Our bones are very stro

(d) The surface area of ou

A man is standing on a boat

(a) move towards the shore
(b) move away from the shol
(¢) remain stationary

(d) sink ;




17.  What happens when a heavy object and a light object are allowed to fal| f,

ight in the absence of air ‘.,

eertain(:)e:g:aw object reaches the ground later than the lighter object 3 €
(b) lighter object reaches the ground later than the heavier object

(c) both heavy and light objects reach the ground simultaneously .

(d) none of these

18.  Force of friction depends upon? _
(a) Smoothness of surface (b) Roughness of suface
(¢) Inclination of surface (d) All of above 3 e A

19 Out of these, the strongest synthetic fibre is
(b) rayon

(a) nylon
() polyster (d) acrylic
20. Materials having qualities of both metals and nc
(a) alloys (b) meta
(c) noble metals (d) solu

21.  Which one of the following is a mixture of
sulphur?
(a) Printing ink
(c) Gun powder

22 In which zone, oxygen is not available? d
(a) Dark zone (b) Non-|
(c) Luminous zone (d) Al

23.  Metals generally react with dilute acids
the following metals does not react with di
(a) Magnesium -
(c) Aluminium

24.  Choose the ¢
(a) It is di
(b)The
burning
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26.

27.

28.

29.

30.

31

32

Which one of the follow
(a) Cheese Ing is not produced by the process of f
ermentation?

: ne

is the firs
(@) Acrylic t fully synthetic fibre
(c) Nylon ((b) Polyester

d) Rayon

(a) PVC ¢ that can best be used to make electrical switches
(c) PET E‘g)) ;olylh_ono iy
Terylene is a popula PO P w5 i
(a) Polyester it . S e
(c) Plastic '

Which of the following metal
(a) Silver : e?als
(c) Calcium

When sulphur reacts with o
(a) alkaline T
(c) basic sl



36.

37.

that promote increased

38.

39.
species.

40.

41.

42.

43.

Which of the following should be done to control fire? |
(a) Increase the oxygen supply b
(b) Increase fuel supply & .
(c) Reduce the heat supply

(d) Reduce the nitrogen supply

Creation of wildlife reserves and endorsement of laws are conservation m

(a) exploitation of species

(b) use of biological control
(c) preservation of species
(d) use of biological fertilisers

The process of conversion of fertile lands into des
(a) Famine
(c) Drought

Species found exclusively in a part'

(a) Endangered
(c) Migrating

Animal life occurring in a particular regi
(a) Flora :
(c) Fauna

Which of the following is not responsible
(a) Ozone layer
(c) Methane

Which organelle is called the "Powe
(a) Nucleus .
(c) Mitochondrion

Which of the following i
(a) Barometer '
(c) Periscope




48.

49.

50.

Which of the following state
(a) Itis involved in lipid syntrt?:nts IS mcorreci about Endoplagm:

(b) It is involved in ribosome synthe Plasmic Reticylumn»
(c) ltis the post office of the gy 1

(d) Involved in detoxifying chemicals.

Which among the following i

(a) Breaking down of foo dgplasrtr?:;:he function of lysosomes?
(b) Protection against the pathoge

(c) Perform photosynthesis %

(d) Digest worn-out cells.

Among the following which .
(&) Hen's eqg cell can be seen with an unaided eye?

(b) Red blood cell o i 3
(c) Sperm cell LIS R L
(d) Nerve cell

Choose the correct statement(s):

(i) Ribosomes are located on the chro P
(ii) Cells located in the nucleus. mosomes

(iif) Chloroplasts are located in the nucleo o
(iv) Cell membrane surrounds the cell, .

(a) (1), (i) and (iii)
(c) (iii) and (iv) (b) “-.:

Which of the following is the non- Iwmg
(a) Cell membrane
(c) Mitochondrion

Combustion of a substance release
(a) Oxygen ¢
(c) Light .

51

the machme is

The value of




53. A metallic cuboid with dimensions 16 cm x 8 cm X 4 cm was melted ang rq.. €

into a cube. What is the length of the edge of the ¢ be? e (@
(c) 4 cm d) 16 cm |

54.  The algebraic expression 3x+ 2y+ 6 is a: .:' e":ﬂ ant
(a) Monomial (b) Binomial -

(@) Trinomial (d) None of above

55. Acube has faces. 65
(@) 4 (b) 5 N7
(©)6 (d) 8 :

56. A sum of money doubles itself in 3 years at compound in
is compounded annually. In how many years will it amount to 1€
(a) 6 years (b) 8 years

12 years (d) 16 yea

S7.  The rational number to be added to -4/7 to get 3/21 i
st (b) -5/7
(c) 7/5 ()47

e
S

3203

58.  Common factors (H.C.F.) of 1-232b¢’ and 1 js ) 208
(a) 3a’v%c’ T b) 3atbie

(g) 3a’be (d) 3ab

59.  If 5 kg of sugar contains 2.25x107 crystals. Th
in 2 kg of sugar is. P Iwvadiet i

Do *h*lm’)': Bl






- number Xy iS.
73, Generalised form of a two-digit nu L) 10x+

!
X n
(a) x+y (d) 10y+ e
(el h other is. 8
ct eac
whose diagonals do e blseh mbus 5
74.  The quadrilateral (b) Rho 8 s
(a) Rectangle Trapezium Yy ol Can
(c) Square

tsofthe
- ms, how many shee 3
75.  If the weight of 12 sheets of thick paper IS 40 gra |

same paper would weigh 2500 grams?

(b) 800 8
t4) 750 (d) 950
(c) 850
76.  If x= ¥-27/8 find the value of ‘X’ (b) 3/4
(@32 3/2
(c) -3/4 L)'
77.Which of the following can be other name Of;efgla':“gigr
(a) Triangular prism (b) Circular !
(c) Square prism (5') & ¢
78. Wilhe rangeofthedata61420 16,6,5,4,18,25, 155!8 :
(@) 25 (b) 22
(c) 20 Af) 21 |
79.  If (x-1) is factor of P(X) = x* + x + k then the value of k
(a) -1 | (b) 1
(o -2 (d) 2 st
80.  In A ABC, AD bisects angle BAC and AD=DC. If an
of angle ABD is _
(a) 75° (b)80°
g 85° ;-

(d) 90°

81.  The age of A and B are in the ratio 5:7. Four yez
the present ageof Bis

82. The factors of 6xy-4 yq.s_gx are M
(@) (3x+2) (2y+ 3)
(c) (3x-2) (2y+ 3



A student multj

"~ the calculation? rby 3/5 instead t
g (a) 34% L3, Whets the Percentage error
(c) 54% (b) 447,
i) 64%

The actual width of a sto

- ; re j
drawing |$5 (‘; 6, then what will 100m is 300 cm, if the scale
cm

e the width of {p, chosen to make its

€ room in the drawing?

c) 6 cm ~ (b) 1800 em
(d) 60 cm
g5.  Polygons that haye n : ; ;
(a) Squares © portion of their d'a%"'_‘ra's In their exterior are called
[(}) Concave _ E d; C’;?"“rg':s
86.  The standard form for 782 )30 SOTE S
1?3 A 080000 is
c) 7.82x10°8

87. v(z)wusch Number is to be divided by 53;
fC) 19

88. In a two digit number x |s:!!‘  plac
number ig. & b

) 10x+y
(c) y+x
89. _ Which of the following is the quoti
(z-8)? ¥,
) xy/3
(c)y/3

80.  Tally marks are used to fir
) Frequency
(c) Upper limits

Which set of si



R

93, The associative property is applicable to:

(a) Addition and Subtraction (b) Multiplic;ltio; :;r.:l) i?g;znmn L
(c) Addition and Multiplication . (d) Subtraction
94, Which of the following will have 6 at unit{E;a;:?é
1
f;}} 249: (d) 137
95.  The area of a rhombus whose diagonals are of lengths 10 cmand 8.2 cm jg-
@) 41 em? (b) B2 cm”
(c) 410 em? (d) 820 cm

96.  Which of the
(@) 1000dm?
(¢) 10dm*

following is equal to 1 kiloliter? .
100dm :
(d) 10000dm

97 Which of the following can not be true for a polyhedron?
(@) V=4, F=4 E=g

(b) V=6, F=8, E=12
{9) V=20 F=12 E=3p (d) V=4, F=6, E=6
98.  If5278 e s

quared, then what will be at the unit place?
(a) 8 ()7 .
(c) 6

\Ad) 4
99 What s the numerical form of 1000a +10b + ¢ 7
(a) abe

b) a0be
(c) abcO {

(d) ab0e

100. 6 pipes are required to fill a tank in 1 hour 20 s
Pipes, how much time it will take to fill the tank? -
(@) 120 minutes ) 96 m

(c) 80 minutes (d) 85

Alfred Hitchcock was a
Passion for life. With his niqus
of the most thrilling
off their seats wi
and magazines,
London. Us

success,
days a week,

S o
S g



sted a weekly television show. No matter
where his ideas came. whether a Magazine article, a mystery novel or incident, his
W;mlil had the typical "Hitchcock toych
fi

-where the agony of suspense was relieved by
rerludes of laughter! Hitchcack was knighted in 1980
in

choose the right answer from the Options given for each questions:

102. Alfred Hitchcock is famous as?
(a) Writer

() Television actor

103. What did the typical Hltchoook
() Fear and passion s
) Suspense and humour

104. What did Alfred Hitcheock do in United.Stal
(a) He produced films and read m
(b) He producead films and tel
(C) He read magazines and say T
\Ln% He produced films and hosted a

105. What does the word swooning mean?
) Fainting .
(c) Hiding

Fill in the blanks with appropriate of

(a) will land
(c) is landing

107. lam not free tf



109, ‘Hurry up! Madam -----—---- be annoyed if we are late.

1) will (b) is
(c) going to (d) are
110.  We will ring you after we --—------- back. |
(a) will be d) are 116
(c) are going to be (d) were st

In the questions below, the sentences have been given in Active/Passive voir _

From the given alternatives, choose the one which best expresses the give.

sentence in Passive/Active voice.

111, After driving profe:::r Kﬁnar to the museum she dropped him at his hotel.
(a) After being driven to the museum, Professor Kumar was dro ped at his hotel,
(b) Professor Kumar was being driven dropped at his hotel. S, T
(¢) After she had driven Prof Kumar to the mus
hotel. -

(d) After she was driven Prof Kumar to the muse
hotel. A

112, Who is creating this mess?
- (a) Who has been created this mess?
{B) By whom has this mess been createc
(c) By whom this mess is being created?
(d) By whom is this mess being created?

113. They greet me cheerfully every morning.
(a) Every morning | was greeted cheerfully
| am greeted cheerfully by them & /
¢) I am being greeted cheerfully by tt ve
(d) Cheerful greeting is done by them ever

114, The invigilator was reading out the instruc
(a) The instructions were read by

{lf) The instructions were being

(c) The instructions had be




the following questions, a sentence has beon given in Directindirect speech.
of the four alternatives suggested, select the one which best expresses the
ame sentence in IndirectDiroct speech

5 The lflinchiﬂ said, "Allah is one. The Holy Prophet Muhammad (PBUM) is His
el

aﬂpﬁzf;m principal told Allah is one the Holy Prophet Muhammad (PBUH) is His

last Prophet.

p) The principal said that Allah is one and that the Holy Prophet Muhammad

(PBUH) is His last Prophet,

(c) The pmmmummmmmhummmh

His Prophet, o s

(d) The principal said that Allah was one and that the Prophet Muha

(PBUH) was His last Prophet s

sl

~ Tk
117. He said, "l shall get up early in the morning”.
(a) He said that he would get up early in the orning.
(b) He said he would get up early in the oming.
(€} He said that he will get up n the morming

£
1

(d) He asked that he would get up early i

118. The traveler said, "Can you show me “ o,

The traveler asked that would he show

\p{The traveler requested the man i he wi
(c) The traveler requested the an

(d) The traveler asked that will he

119. The teacher often says to me, "If
(@ The teacher often says to



each for the underlined phrases in the sentences beloy s
Eﬂwﬂ?:. with correct meaning.

on environment.
121 Rapid industrialization has taken its toll

(a) has damaged.
(b) has improved.
(c) has taken place.

(d) has had no effect.
' ugh
122, You will have a difficult time but | will see you through
~ (a) will meet you

b) will see you in the end
lEG) will support and help you till the end
(d) will not help

123, Now, don't beat around the bush. Come to the point.

(a) delay in approaching the matter
{b) speak nonsense angrily

(c) do unnecessary things

(d) circling and climbing hill

R
124. It seems the old man is losing his mind. He m
(a) losing his temper - S
(b) losing his patience

(¢) becoming mad 2 ¥
(d) becoming forgetful | B

125. Don't lose heart just because you have fail
(a) lose temper

(¢) become angry

Find the correctly spelt word .
126. (a) Parralelogram (b) Paralilogram

AN

127. (a) Adulation (b) Adullation
128. (a) Foreign (b) Foreine
129. (a)Lieutenant  (b) Leiutenant
130.  (a) Ommineous (b) Omineous

Choose the appropriate synonym for eac

131.  Agrarian.

(a) Undomesticated
(c) Urban



yigorously.

132 a) Slowly (b) Steady
(c) Aggressively (d) Dull
133, Kinetic.
(a) Peppy (b) Apathetic
(c) Inactive (d) Lethargic
134, Amiable.
(@) Aloof (b) Mean
(¢} Unkind (d) Affable
136, Turbulent,
) S (b) Settled
(c) Quite (d) Disordered
Choose the appropriate antonyms for each of the words below
136. Coercive
{a1’ PTUQ"E%E]V& - . |."' DMOnUNG
(¢) Opinionated ‘¥ o 4,] i\ %
J By &

137. Sinister.
(a) Good
(c) Long

= - - i T T
e s
b -

138. Provoke.
(a) Insult
(c) Encourage

139. Dearth.
(a) Abundance
{c) Famine

140. Autonomy.
(a) Go
(c) Liberty




[

[ F

m the given options. N\
Fill in the blanks choosing the most appropriate word fro

world’s lengthiest (142)

The Constitution of India is one (141) ............. he,dlr:l:s It was passed (143)

BRI i Bl 3954:;1 s %oﬁtituent Assembly and (145) —
“ooi. 28 November 1949 by (144) -

---------- fully applicable since 26 January 1950.

141. (a)on (b) at (c) of () pes |
142, (a) been written  (b) written (c) has written (d)accve

143. (a) across (b) upon (c) at (@ on i

144 (a)an (b) its (c)a d) the

145.  (a) become (b) became (c) has become

Replace the phrasal verbs in italics with a suitable alte

I
146, The foundation £omes up with the idea of pro iding ol
fmore teaching resources o [

(a) Refuses

(b) Postpones
(c) Accepts (d) Pre pos ";
147 In a typical large-scale company, many depart li, :
business plan,
(a} DEVEIDF! {b}
(c) Reinforce - (d)

148, The government needs to further develop the

to encourage more people to give up driving priva
(a) Continue :

(c) Consider

149, Tourists are advised to look out r

in this city. 1o
(a) Communicate
(c) Beware

-
- I -
o
A

B
B

150.






not be known 18 known as-

162, Resources whose entire quantity may
(a) Actual resources (b) Ubiquitous W
(c) ﬁotential resources (d) Blotc i 8
163, Stones, grass and soil are used to build parriers along contours. This i Known (
as:- |
(a) Contour barriers (b) Mulching 3 ‘f:;i
(Q Contour ploughing (d) Intercropping -
164.  An international convention that lists several species of animals and birds i |
which trade is prohibited is known as:- - ATS.
(a) UNO (b) SAARC
(CFNATO (d) CITES
165. Minerals that lie near the surface are simply dug out. What is this p Know 17
as? - A -
!aﬁ:lrilling Ladun
(¢) Quarrying

166. Which of the following is related to dep
(a) Kolar T
(c) Bihar

167. From which ore is Aluminum obtained that |
(#) Bauxite VT
(c) Manganese | ' 1)

168. Which of the following is the leading producerol
(a) India :

L(;} Brazil
169. Which of the following is often ' bz

\(af Iron
(c) Copper

170. What is the difference between the birth

(a) Birth Rate
@Natura! Growth Rate

L) TAWE

I 1
171. Existence of more than one level of gov

4} Federalism
(c) Parliamentary Form of Gove

.

172 Which article of the Constitution aba ishes |
(a) Article 18 + OE
@}Anicle 17 3

a8
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